Pathology

The following can be used for Breast Cancer Staging:

Size of the tumor T

Differentiation of the cells of the tumor F

Metastasis to other sites T

Response of oestrogen to progesterone receptors F

Mitoses 

The radiation from a CT scan is lower than that of the regulated levels of environmental exposure. F

The radiation from a x-ray is higher than that of the regulated levels of environmental exposure. F

Ionising radiation causes strand breaks, thymine dimerisation of DNA. F

Ionising radiation causes harm by the formation of hydroxyl radicals. T

The amount of radon in a well ventilated house is low. T

Reactive oxygen species is central in:

Reperfusion injury T

Ionising radiation T

Mitochondrial mediated apoptosis F

Fas-Fas Ligand mediated apoptosis F

Cellular senescence. F

Granulomatous inflammation:

Is characterized by the presence of large (neoplastic) giant cell F

The presence of macrophages T

Has excessive production of granulation tissue F

The following are linked in inflammation:

Histamine and Mast cells T

Tuberculosis and macrophages T

Parasites and eosinophils T

Viral Infections and neutrophils F

Staphylococcal infections and monocytes

Retinal Blastoma formation is due to the loss or mutation of p53 gene. F

The following cause a proto-oncogene to become an oncogene:

Amplification of proto-oncogenes. T

Translocation of a proto-oncogene to an enhancer. T

Acute inflammation F

Benign tumours:

Grow faster than malignant tumours F

Are less well differentiated than malignant tumours F

Have better blood supply than malignant tumours T

Are less well demarcated than malignant tumours F

Do not kill F

For a proto-oncogene to become an oncogene, there must be a loss-of function for the protein that encodes the change. T

On chemotherapy drugs:

Methotrexate is an anti-metabolite. T

Nitrogen mustard is an alkylating agent. T

Most anti-metabolites act on the S-phase T

Most anti cancer drugs act on the Go cells. 

Most anti-cancer drugs act on the mitotic phase of cells. F

APC is a tumour suppressor gene. T

Axin is a proto-oncogene. F

B-Catenin is a tumour suppressor gene. F

Patients with Familial Polyposis Coli have inherited a defective APC gene. T

The mutation that causes HPNCC (non familial colon cancer) is the same as that of the mutation that causes disrepair of DNA base change. T

HPV:

Is a retrovirus F

Type 16 and 18 is linked with cervical cancer T

EP6 causes destruction of pRB F

EP7 causes destruction of p53 F

The oncogene is derived from human origin. 

Tumour viruses:

Not all of them have oncogenes T

Create oncogenes by viral insertion at a part that encodes for the inhibitory domain T

They integrate into the host genome randomly. T

Which cancer tends to spread by the venous transmission?

Hemangioma F

Renal carcinoma T

Basal Cell carcinoma F

Brain glioma F

Hepatocellular carcinoma F

The following of atrophy is true:

Atrophic cells contain fewer than normal number of cytoplasmic organelles T

Atrophy occurs in otherwise normal tissues if their workload is decreased T

Atrophy occurs in otherwise normal tissues if the blood supply is decreased T

Appearance of autophagic vacuoles in cells undergoing atrophy signal irreversible cell injury and impending cell death F

Atrophy begins to occur in most tissues immediately after the death of the individual F

Metastasis of cancer can occur by the following mechanisms:

Transcoelomic spread T

Invasion into the lymph nodes T

In apoptosis

Phophatidyl serine is brought to the inner cell membrane for the “eat me” signal. F

The apoptotic bodies are phagocytosed by specialized phagocytotic cells. F

The nucleus swells but the mitochondria remain the same. F

Degradation of the bio synthesis is part of the reversible phase. F

When a cell undergoes apoptosis:

The cell swells. F

The cell membrane ruptures F

The initiator caspases are inhibited F

There is intense inflammation. F

Apoptosis is essential for:

Sculpting of body parts in the foetus T

Removal of T cells that react to self antigens T

The matching of nerve cells to their target cells T

Prevent metastasis of cells that detach from the basement membrane. T

Prevent cancer from developing from cells with DNA damage. T

Shock (peripheral cirxulatory collapse) may be complicated by:

Watershed necrosis in the brain T

Renal tubular necrosis T

Ischemia to the colon F

Alkalosis F

Mycardial infarction T

Venous thrombus formation:

May cause pulmonary hypertension T

May occur in final stages of cancer T

May complicate a splenectomy T

May be caused by stasis of blood T

May be asymptomatic T

Thrombus formation tends to happen when the patient suffers from:

Thrombocytopenia F

Turbulence in the circulation T

Hypercholesterolemia T

Endothelial injury T

Increase in clotting factors T

Metastatic cells:

Have Metalloproteinases. T

Are highly efficient in metastasizing to other parts of the body. F

Require an invasive phenotype. T

The CD8+ T cell:

Binds to peptides on the MHC I complex. T

Induces the external death signal apoptosis pathway. T

Shares the same receptors as the NK cell. F

Uses perforin. T

A tumour cell:

When extracting the oncogene and transferring it into a normal cell causes the tumour cell phenotype. F

Does not grow on soft agar. F

Does not require external amino acids. F

Some fluid was drawn out from the pleural cavity of a patient and it was found to contain >3.0 mg of protein. The liquid also had a gravity of greater than 1.015. Which of the following is likely to be true? 

The fluid is likely to be full of inflammatory cells T

The patient is likely to have cardiac failure. F

The patient is likely to have pneumonia. T

The patient is likely to have ascites. F

The fluid will coagulate. T

Regarding DNA checkpoints:

Failure of the DNA damage checkpoint may increase mutation rate in the daughter cell DNA T

Failure of the DNA replication checkpoint may cause daughter cells to have missing genes. T

Failure of the spindle assembly checkpoint may result in aneuploidy T

Genomic instability which is a hallmark of cancer may be partly due defective spindle assembly check-point T

